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defehl JeAg el X ?dvjﬁlﬂ\ (Answer the following questions) :

1. T Faaers & 9w, ? eled | What are the names of the pictures below? Write.  [4]

(F@'ng, REL ?’@T, EED i’@T, %TﬂTrr, %@i?vr, qd) (point, straight line, curved line, triangle, quadrilateral, circle)

() A @) ‘ ) - ) N

R. F=H|T Q@RS TRl ATH of&al¥ | Write the name of the shown part in the given figure. [1x2 =2]
A
B
o]

3. FaHT T@TRT 919 #id Gfeiier SE@EURl & ? How many cm long is the line in the given figure? [1]
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.................... Afrefae? (centimeter)



¥, (%) AZHHT [GSUH ATl A&TRAT JTETe€ | Write the given numbers in Nepali words.
P) R [1]

") GG\ e, [1]

) TTTT oo [1]
) GF T TS oo [1]
M) Fortyseven ... [1]

%, &l FFEITAT Tl EBRT (O) a9rs+erd | Circle (O) the larger number.

() 4% ] [1]

@) ¥  ¥5R [1]

o, fegus! Ts@TaTe deal 91 Ul HHAT felaH | Write the given numbers in ascending or descending
order.

(h) Tl HHHATI ?HMI'\R feferd (Write in ascending order):

30, M%) ¥R o) [1]

(@) deal hHHAl ?HMI'\R federd (Write in descending order):

QY3 GG, U oo [1]

S) A fearas T TIT-E@% ? fo ﬁ%’f‘f (V) Wllgﬂj\li{ | In which problems should multiplication be

used? Mark with a tick mark (v). [1]

(%) EReT Q0 TUAT FATATE T Y FIAT ATHTSTS ferall | 31 I STEAT Biq Sy s 2

Hari take Rs 10 from his father and Rs 5 from his mother. Total how much rupees does Hari have now
(@) TIaT MEH R ATer a8 S 9 QU fier Med Hasier &g g 7

If one cow has two horns, then how many horns do 15 cows have?

(A7) ITHEN Y ST T | Qo wuAt @ AT | AT B Sfhl @ 7



Ram had Rs. 35 with him. He spent Rs 10. Now how many rupees does he have left?

(T) YY AT FAHKIC 3 AT SR ATSET Ueh AT H(d ATl FTehdd TS ?

If 55 chocolates were distributed equally among 3 people, how many chocolates does everyone get?

). fewma e | Calculate. [5x1 = 5]
() S @ ¥¥s M ¥ = 9y (3)

xyr‘x
+ +4 %0 —RV3 X

Q0. TE=HT AT 9T ATy (A=THT J&Te 9 | Write the fractions for the shaded part of the given figure.
[1x2 =2]

99. FeEaTR & SR iéﬂjl%{l Examine the pictograph and answer

fer (Figures) FITF (Pictograph)

P9t (triangle) /\ /\ /\ /\/\

a—corﬁvr quadrilateral)

e OOO0OO

T

(%) TIST HIqATT B ? How many triangles are there? ... [1]

(@) ﬂ?‘fjﬂ:ﬁ He<l 9 EILENE| & ! By how many times is the circle more than quadrilaterals?
............................. [1]

(A1) dRT T ARl ST SIgaT STHAT Hid =g 7 If you add the number of stars and circles, what is the
total number? ... [1]



